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15.The management of a company is considering for purchase of two new machines X
and Y, each costing Rs,5,00,000 and having a life period of 5 years.  Cash flows
after tax are expected to be as follows :

Year                     1 2                  3                 4                  5

Cash in flows :
X→ 150000          200000        250000        150000        100000

Y→ 50000          150000        200000         300000        200000

A discount rate of 10% is to be used.  You are asked to advise as to which machine
would be more profitable under the ;

a)  Pay back period method and
b)  Net present value method

16.From the following Trial Balance of Mr. Bhushan, you are required to prepare trading,
profit and loss account and also a balance sheet as on 31-12-2012.

_________________________________________________
Particulars Rs. Rs.

_________________________________________________
Land & Buildings 50,000
Plant and Machinery 78,000
Furniture and fittings 20,000
Purchases 60,000
Purchase returns -- 1000
Opening stock 30,000
Discount allowed 425
Sundry debtors 54,000
Sundry creditors -- 44,000
Capital -- 1,18,000
Sales -- 1,50,000
Commission received -- 5,000
Sales returns 1,500
Discount received -- 5,000
Salaries and wages 10,000
Rent, rates and taxes                       12,000
Mortgage loan                                                         25,000
Cash in hand                                    32,075

__________ _________
3,48,000 3,48,,000

Adjustments :
Closing stock value – Rs.25,000
Depreciate plant and machinery at 10%
Provision for bad debts on Sundry debtors @5%

17.Write a short notes on the following :
a)  Opportunity cost concept
b)  Cross elasticity of demand
c)  Accounting cycle
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